9-6 Properties of Probability

1. You draw 2 cards from the deck of 52 without replacing the first card before you draw
the second. What is the probability that both cards will be red?
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2. You draw 2 cards from the deck and replace the first. card before you draw the second.
What is the probability that both cards will be red?

2 (p 2 | i | 3

i " . A

N
)
\'f
Yo
=
5

Intersection of Events

|
% P(A and B) =P(A N B) =P(A) - P(B|A) if two events are dependent(do not replace)
% P(A and B)=P(A N B)=P(A)- P(B) iftwo events are independent

3. A cookie container has 10 chocolate chip cookies, 11 macadamia nut, 12 oatmeal and 7
oatmeal-chocolate. If you select 1 cookie at random, what is the probability:

a) it will be contain oatmeal or chocolate? - —]
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b) it will be macadamia or chocolate chip? | I | —; { .\
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| Union of Events
P(A orB)=P(AUB) = P(A)+ P(B)—P(ANB)

P(AorB)=P{AUB) = P(A) + P(B) if two events have no intersection

4. Calvin and Phoebe volunteer in the children’s ward of a hospital. The probability that
Calvin gets mumps as the result of a visit is P(C )= 13% and the probability that Phoebe
gets mumps is P(Ph) = 7%. Find the probability of each event.
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d) Neither Calvin nor Phoebe catches mumps BT, & L i 071 & \i',{_ U -
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e) At least one of them catches mumps o NoT Botit CATCH

e 13 %,.93 0T / "} _ent - .C("{‘f

o 5" s 09 {add | 1969 ] | -.§091 =], ! ‘
P omG emeqn L obP(add Ll T y

- l:- and 1-) . DDA s DB Ir‘r [\Lf 26\

Complementary Events
The probability that event A will not occuris P(not A) =1 —P(A)

5. Drew has these probabilities of passing various classes: Physics 90%, PreCalc 95%, and
Spanish 80%. Find the probability of each event. ———— e
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